
By FTLI we know conservative vector fields

are nice :
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Q : how can we tell if I is conservative ?
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Then

By equality at mixed partials , it must be that

so : if Nx f- My ,
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F is not conservative .



More generally , Sps Es CM
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So : if curl E =/ O
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(recall : curl(of) = E )

F- is not conservative .



In generally , curl E = I =D F conservative .

BUT : converse holds on simply region in

1123 (or 1122 )
.

A simply connected region is

connected :
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Thy If I = CM
, N ,
P) Cor Es LM

,
N) ) is a

vector field on a simply connected region

in IR
' (or 1122) such that M

,
N
,
P have

continuous partial derivatives then

F is conservative ⇐ curl F- = -0 ( or My -- Nx)


